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No Xt H—k Bf fEl | No XTEH—k

1 AFHBN(E) vs EFHAG) 14:30 1 FOTSR(R) | 4 vs 4 BEFHUER)

2 | dLhiEE>D) vs AHEBMNE) | 1440 | 2 EFHAGE) 2 vs 3 FOTSR(R)
3 BAEFBR) vs EhigbE>o) | 1450 | 3 B E) 1 vs 0 FOTSR(R)
4 SFHARGE) vs BEFHER) | 1500 | 4 FOTSR(B) 3 vs 1 | deNistE>Y)
5 A FHET(H) vs BREFHER) | 1510 | 5 EFARGE) 3 vs 0 | dLiifnte(E> )

x =

6 BEFHR vs FYTSR(R) | 1520 | 6 BN E) 0 vs 2 SFHAGEH)

7 FOTSR(8) vs SFHAH) 1530 | 7 |dliith(E>s)| 3 vs 0 M BN E)

8 FOTSR(8) vs STFHEBAE) | 1540 | 8 AEFHR) 1 vs 1 | dNimdE>Y)
9 LgtE> D) vs FOJSR(R) | 1550 9 EFHAKRGE) 1 vs 1 AEFHER)
10 [ dL)iit(E> D) vs EFHRE) 1600 | 10 | AIHEBNE) 1 vs 0 RAEFHIR)
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= (16 :10~)
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(%) (R) | (BEvD) | (B ) BER BR KR BRAIR

EFAX 2—2 3—0 _ _

(%) 1—1 0—1 2_8 ;_8 11 13 10 3 3
HAEFH| 2-2 3— _ _

(k) 1—1 1_$ g_g (2)_1 13 16 12 4 1
L)t o-3 2—3 1—3 1—2

(E>)| 1-0 1—1 0—0 3-0 8 9 12 -3 5
K595 | 38-2 4—4 3—1 0—1

AR | 0-2 0—3 0—0 1 —1 9 11 14 | -3 4




